SECTION - A 10 x 2 = 20

VERY SHORT ANSWER TYPE QUESTIONS
Answer All questiﬂns KEach question carries 2 marks.

Iff(x) =

(1 = 1) then find the values of ( fofef ) x).

Find the domain of —-Ij B ;Mf} x

Find p if 47 —Sﬂjﬂ:}k is parallel to 1 + 2j + 3k.

If D, E, F are the midpoints of the sides BC, CA, 4B of A ABC, then show that
) — 5

AD+BE+ CF =
Find the angle betweena and b if |a+b|=|a—b|.

Find the pcrmd of the function cos {4 ;-9}

A
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Prove that cot 2{] c:ot CCII 50 Lﬂf cnt 0 =1

Prove that Sinh™ 'x = Ugc{x +Ve+1 )
Prove that 2(bc cos A + cacos B+ abcos ) =a’ + B+

If the point # denotes the complex number z =x - §y in the Argand plane and if

is a purely imaginary number, find the locus of P.
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SECTION -B 5 x4 = 20
SHORT ANSWER TYPE QUESTIONS

Attempt any 5 questions. Each question carries 4 marks.

. IFABCDEF is a regular hexagon, and G is its centre, then prove that
r —¥ ¥ ¥ ¥ — -

AB+ AC+AD+ AE+ AF =3 AD=6AC.

. Find the unit vector perpendicular to the plane passing through the points
(Ei20 3002 = 1. Trand 1254y,
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24.

cot A ) cot B
l4+cotd 1+cotB

Il 4+ B =225 prove that %

Solvesin2B8—-cos20-s5inB +cosH=0.

) 1l W L e
Show that Tas [?W + Tan |\HJ = ot [43

A

]+{‘?nr“ (18).

%, cot %, cot% arc in AP T a, b, ¢ are in AP,

Show that 2° sin® 8 = 10— 15 cos 20 + 6 cos 40 — cos 60,

Show that cot

SECTION - C 5 x 7 =35
LONG ANSWER TYPE QUESTIONS
Attempt any 3 questions. Each question carries 7 marks.

Let f:4— B and I, and I, be the identity functions on 4 and B respectively.
Then prove that fof , = Feef =

Prove by induction that D B s +... nterms = —— |
1-3 3.5 5.7 2n41

Find the shortest distance between the straight line passing through the point |

(6, 2, 2) and parallel to the vector (1, — 2, 2) and the straight line passing through

(—4,0,—1) and parallel to the vector (3, — 2, — 2).
If4A 4+ B 4+ C =180° then show that

COs iI — CO8 5 — 05 & =4 ¢og (T f‘j'\ CO3 [T BW COaE IFL
2 2 A \4,-| e R
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Show 24 = LI
Show that cos \2)I+CDS Iq]+cos (EJ T
From a point 4 on the level ground away from the foot of a spire, the angle of
elevation of the top of the spire is 30°, From a point at a height of # melires
vertically above A4, the angle of depression of the foot of the spire is 60°. Find the

height of the spire in terms of /.

s}

L = zirz +1}

If n is a positive integer, prove that (1 )"+ (1 =) cos (n m/2).




